
Key to Exam III; F4360; Fall, 2004
Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  Assume you want to calculate the beta of a firm’s existing assets.  You have determined that the beta of the firm’s stock is 1.3 and that the beta of their bonds is 0.4.  The market value of the firm’s stock is $300,000 and of its bonds is $100,000.  The book value of the firm’s stock is $100,000 and of its bonds is $120,000.  What is the beta of the firm’s existing assets?
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2.  Assume that managers at Fantasy Mae (FNMA) uses the firm’s (FNMA’s) weighted average cost of capital as the required return on any new projects it is considering.  What is a potential problem with this approach?
One of:  incorrect acceptance of high risk projects, incorrect rejection of low risk projects, risk of firm has changed, small sample problems, measured return not required return.

3.  What can be done to overcome the problem you mention in number 2 above?
Average weighted-average cost of capital of firms in same industry as project.

4.  Assume you are attempting to determine which of four firms has the lowest asset beta.  Firm #1 has revenues that are highly cyclical and low operating leverage.  Firm #2 has revenues that are highly cyclical but high operating leverage.  Firm #3 has revenues that are not highly cyclical and low operating leverage.  Firm #4 has revenues that are not highly cyclical but high operating leverage.  Which of the four firms should have the lowest asset beta?
#3

5.  What is a potential problem with attempting to estimate the risk of a new project by using historical returns on similar assets?

One of:  asset must be actively traded, small sample leads to low confidence in estimated beta, beta may have changed.

6.  What is a convertible bond?
A bond that can be converted into shares of common stock.

7.  What do we call an unsecured bond?
Debenture

8.  One of the indirect costs associated with a cash offering is underpricing.  What is underpricing?
Difference between value of stock and price at which issued.

9.  What do we call an issue of securities that is sold to a single investor?  Note:  such issues are usually debt or preferred stock.
Private placement.
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10.  If capital markets are perfect (which of course they are not), we conclude that capital structure decisions are irrelevant to a firm’s stockholders.  One way we demonstrated this conclusion was to show how stockholders could undo the impact of the firm increasing its leverage.  In a perfect markets world, how can stockholders undo the impact of a firm increasing its leverage?
Buy both the stock and bonds issued by the firm.

Problems/Essays

1.  Assume that during Bush’s second term the economy booms.  As a result, almost all firms the profits for almost all firms become higher and more stable.  Assume also that Bush reacts to this boom by raising corporate income taxes.  Show graphically and discuss how these changes will impact the overall level of debt in the economy and how it will impact a typical firm in the economy.  Also discuss what will happen to the pre-tax return on corporate bonds.
Description of graphs:  

Let: 
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be the graph of the initial corporate tax rate and 
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be the graph of the corporate tax rate after the changes.  
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be the tax rate on ordinary personal income.  

Equilibrium 
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be the tax rate for the marginal investor before the tax cut and Equilibrium 
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be the tax rate for the marginal investor after the changes.

TD(1) be the initial equilibrium amount of total debt and TD(2) be the equilibrium total debt after the changes.
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 is the initial optimal amount of debt for the typical firm and 
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 is the optimal debt for the typical firm after the changes.

Total debt graph:  
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starts higher than 
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and slopes down more gradually.  The intercept between 
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 occurs to the right and above the intercept between 
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.  Thus TD(2) is to the right of TD(1) and Equilibrium 
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Individual firm graph:  
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and slopes down more gradually.  Equilibrium 
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 and Equilibrium 
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Impact on pre-tax return on bonds:  since the equilibrium 
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, the pre-tax return demanded by bondholders will increase.

Discussion:  The increase in the tax rate and in the level and stability of profit increases the tax benefit of debt.  The optimal total debt in the economy and for the individual firms thus rise.  
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2.  Ignoring all tax issues, what factors may limit a firm’s willingness to issue debt?  In other words, what factors reduce the attractiveness of debt relative to equity if the firm must issue raise funds by issuing securities?
1)  As increase debt, the chance of bankruptcy rises.

=> expected bankruptcy costs rise

=> however, bankruptcy costs are small

2)  As increase debt, confidence in the firm falls.  This leads to:

lost sales

loss of best employees

loss of supplier credit

loss of credit

3)  As increase debt, stockholder-bondholder conflict increases

=> if plan to issue even more debt, bondholders require:

tighter covenants

more monitoring

that debt be convertible

increase in interest rate on bond

4)  Management spends time avoiding bankruptcy rather than maximizing value.

5)  Management makes decisions that benefit firm in short-run but hurt in long-run.

=> all of these make debt more expensive to issue
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